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Electromagnetically Induced Transparency (1)

(1)  Suppression of light absorption
EIT condition  (three-level atom and 
two kinds of resonant lights) EIT spectrum
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absorption of probe light by 

atoms is extremely reduced.
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Electromagnetically Induced Transparency (2)

(2)  Deceleration of group velocity of light 
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Electromagnetically Induced Transparency (3)

(3)  Storage of light

suddenly turning off 
the control light

turning on 
control lightg
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Fraction of photons isFraction of photons is stored in atomsstored in atoms

Structure and absorption spectrum of 87Rb

Energy levels of 87Rb Absorption spectrum of 87Rb D1 linegy p p
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Experimental setup

7PBS: Polarization beam splitter PD: Photo detector BS: Beam splitter AOM: Acoustic optical modular
APD: Avalanche photo detector

Photograph
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Absorption and EIT spectrum of 87Rb
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Spectrum with 
EIT condition 794.970nm Approximately 90%T
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Deceleration of probe light pulse
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Storage of light
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Control light
• Control intensity : 52 mW/cm2
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• Pulse width : 1 μs
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• Temperature of atoms : 72 ℃
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Time [μs]

Retrieved pulse intensity for variance storage time

Storage time
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Storage efficiency
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